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General Instructions:

()
(i)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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T Shif<d & 9e TS & fomd ot 1 g1y o1 ?

() el (b) A A

() weA (d) =R feum

Which class of society in France was behind the French Revolution ?
(@) Clergy (b) Nobility

(c) Middle class (d) Small Peasants

frefafaa § 9 ford 1 299 <1 9 T2 T off qen am= foRfier of ume 97

(@) T TRZ & qeH (b) el o

(¢ U (d) ferum

Which one of the following was exempted from paying taxes to the state and
enjoyed feudal privileges ?

(@) Members of third Estate (b) Nobels

(@) Soldiers (d) Peasants

frfafaa T4l 7 9 e Toa &1 91 ey | & fierd ?
(@) Y=t S (b) T
(©  Prgm (d) AR

Which one of the following states does not share common border with
Bangladesh ?

(@) West Bengal (b) Meghalaya

() Tripura (d) Manipur

frefafea afedl § 9 #F 7<) SaRTeq@ o1 i i §72

(@ ~ m (b) Ty

() G (d) e
Which one amongst the following rivers forms esturies ?
(@) Ganga (b) Indus

() Narmada (d) Kaveri

[l AT 7 fom ot TemEar & foe 6 Aifg fofa fag &2

(@ el He=t (b)  RERE gew

(@ T IR TEg d)  Hfecmsii

For whose help had President Allende taken several policy decisions ?
(@) Party members (b) Family members

() Poor and the workers (d) Women

frfafed 8 & ®F 1 HoF Tkt 1 A0 TE 72
(@) N ST AR A

(b) @RI T faem sifere % w wdEd ¥ )
(c) TSI | oM i STAM & Bl |

(d) TSl R e T8l e |
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10.

Which one of the following is not a characteristic of democracy ?

(@) People choose their rulers

(b) People have freedom to express their views.
(c) Trade unions are not allowed

(

d) Strikes are not banned

Sf&T07 STHRIRT hl T SRl ALRR A Fodd Hedl W fhy STqUY W HehgHl =l o1 ?

(@) VLR (b)  HrEEe

(© T (d) T e

On what charge was Nelson Mandela tried by the white South African
government ?

(@) Treason (b) Cheating
() Murder (d) Spreading of violence

ol e & TR foraneti 1 sem o1 ol 311 qliehl hid W18 ?
(a)  ARERT % 1= HiEH BT

(b)  HH TS T R R SUAS FEMI |

(c)  3cafed §MH seH & fg =R 8|

(d) ST A

Which is the best way to expand non-farm activities in a village ?
(@) To have better means of transport

(b) Loan to be made available at low interest

() To have markets where the goods produced can be sold

(

d) All the above

frfafed 8 & i w1 fawed SISTRY &1 9vE 76 82
(@) TS HETHE T e

(b) A< SR HT AU BT

()  oTifefer oirer ® et

(d) TR e

Which one of the following is Not an effect of unemployment ?

(a) Wastage of manpower resource
(b) Depressed economy

(c) Decrease in economic overload
(d) Feeling of hopelessness

frefafed & € &F W %7 6 ¥ 14 98 & 3T T8 & o= &l qreafiw e gem
T ! fown H Aeeryu 87

()  Gafem fEe (b) e fen wrimy

(© SR ISH (e e A) ()  sEgfa

Which of the following is a significant step towards providing elementary
education to all the children in the age group of 6-14 years ?

(@) Sarv Shiksha Abhiyan (b) Adult Education Programme

(c) Mid-day meal (d) Scholarships
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11A.

11B.

12A.

12B.

13.

14.

15.

16.

17.

18.

19.

¥4 H Forehl W gfdery oM & fae wifed gr1 ST e fR=dl e shedl st same
I |

Explain any three measures adopted by Stalin to impose restrictions on Kulaks
(well to do peasants) in Russia.
319re JOR

I i G k] THA o I HISR AT STIHH STk <904 & AT i 99 R0 T
I |

Explain any three reasons to show that the treaty of Versailles was harsh and
humiliating for Germans.

GSIETG oh T4 H hiei A1 o Ta=Il shi SATEAT hifsTy |

Explain the views of Karl Marx on capitalism ?
31aT JOR

HTeEt T | A iR Hifean w1 9t AR | sWa R’ 56 wed wi e
3R gt ST |

‘The Nazi regime used language and media with care, and often to great effect’.
Explain and justify.

YA ! A A 82°3(07 E ff¥=a & & &8 dF sror fafaw

Give three reasons for selecting 82° 30" E as the Standard Meridian of India.

fedrea =t dF TAWR Eensd & W fdafan qor ged S gEen & A 5HqE
SR fafere |

Name the three parallel ranges of the Himalayas and explain three main features
of the northern most range.

3@ AR SR S it WIEl § STafeerd g9 9@ o siid s ol <R faray |

Write any two differences between the Island group in the Arabian Sea and
Island group in the Bay of Bengal.

YR Afeat St fhi i faeamedi st smen S|

Explain any three features of Peninsular Rivers.

faot § df1er fodie o1 g fem fRar o 2 SO g0 fhE T sTom=R &1 9ol
I |

Who led the military coup in Chile ? Describe the atrocities committed by him ?
ATshe=1 o qel | ferwdl i bl shi ST hiferq |
Explain any three arguments in favour of democracy.

7 9 o1 aftam fafew ) <faror sTwisht § I8 eren 31vadl o fa S ey off ?

Define aparthied. How was this system oppressive for the blacks in South
Africa ?

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3

1Y2+1v2=3

1%2+1Y2=3

3x1=3

1+Y2x4=3

3x1=3

1+2=3
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20.

21.

22,

23.

24.

25A.

25B.

26.

27.

T3l T Hensli <k SeH o Ty S 9R sTeasiet sl fafae o fwet e =t
ferIoraTg #ee hifsTe |
State the four requirements for production of goods and services. Explain the
features of any one.

" ST UTRqeR TETHAT St HHT R ATESE U foeRfid <91 §' 36k hig diM Rl TR
HIfST |

‘Despite being poor in natural resources, Japan is a developed country.” Explain
any three reasons.

sTifefen fopamenetTdl o T &5ehl § ISR o URGYA i ISR hifaT |

Highlight the employment scenario in all the three sectors of economic activities.

wid H Afeensil g1 wnfud 9o Aeayul R Ufag deen o1 99 fafed | Tt wE
HIT ST off TT SRR FRehR A Afgensil o Sited | GUR @M & forg == foran ?

Name the most important and famous society founded by women in France.
What was their main demand and how did the revolutionary government help
them to improve their lives ?

1789 =1 T § STicl o foIeai| o 918 hid |1 Hecaqul shid TR o TR ? e
HIT Toh T8 I 7 AW AH o Sitad | Sl a5 fohan ?

Which was the important law that came into effect soon after the storming of the

Bastille in the summer of 1789 ? How did it change the lives of the common
people ? Explain.

w49 T gueEe! gare 1 i s % A aetifaen g e e faeet uie 3l S
AT iU |

Explain any five measures adopted by the Bolsheviks to make a socialist society
in Russia .
319rET JOR

U H el g v % fou feeer gR1 S8 U TRl Ui whedl i sAanen
HifaT |

Explain any five measures adopted by Hitler to establish dictatorship in

Germany.

R o fafie -sTesfaes faum TH-gER o T §'' 9T ST o 9 H 19 IS
fafau ?

‘The physiographic divisions of India are complimentary to each other’. Give
five examples to support your answer.

M lshd=l o faeg feu S ot fordl ai= denl =1 fafaT |

State any five arguments which are given against democracy.

2+1=3

3x1=3

1+2=3

1+1+43=5

1+4=5

5x1=5

5x1=5

5x1=5

5x1=5
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28.

29.

30.

31.

Gfaam @ g7 v= ad 9 of gd dfgum gy g fafia dfaum 6 g9 @i iR
A E? T RIS |

What is a constitution? Why do we accept the constitution made by the
Constituent Assembly more than fifty years ago ? Explain

‘Fft § I T A TEwEehdl 8 WRd | 81, T AR 9 fREE 39 & ya ol
L §?

‘Capital is a basic need in agriculture’. How is it arranged by small, medium
and large farmers in India ?

IRA o T<of § we geit fmior & wamee 1R e w6t ofies T s

Explain the role of health and education in human capital formation with special
reference to India.

()  fu gu wRa & wsrifaer emmfes § /A7 3R B W & @ fafea R e
€, A= &1 TR SIeRRT o YR W 37 W10 i Tg=H e Wit § €l fafed
et W3 wEt T fofa
(A) U EIYEE
(B) Teh YddE e

(i) S "AEfes W g FEfafed S StgE Hordl gRT SR T ST Hal 9
TFI'F@T{ :

(C)  ¥IRd sk H&A Y] 9 <l Sa10aH fog
(D) T sitd

(1) Two features A and B are shown in the given political outline map of
India. Identify these features with the help of following information and
write their correct names on the lines marked on the map.

(A) A group of islands
(B) A mountain range

(if) On the same political outline map of India, locate and label the following

items with appropriate symbols :

(©)  Southern most point of mainland of India
(D)  Chilka Lake

die ;. FAfafea g waw giteanfia uftanfiat & foe g FHie 31 F WA W T
1) ST 1 @rel § Stafterd gid e s M fafea)

2) TSTEAH H afeed ged @ & AW farau |

) YR o &I Y- 9N 1 (&0 forg skt 7 feaf

31.4) faoe sha fora Toa § stafeem g1

Note : The following questions are for the visually impaired candidates only on
lieu Q No 31.
(31.1) Name the islands group situated in Bay of Bengal.

1+4=5

21,421/=5

214421/5=5

2+2=4

4x1=4
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(31.2) Name the mountain range of Rajasthan.
(31.3) Which is the southernmost point of mainland and Indus ?
(31.4) In which state is Lake Chilka situated.
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